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Příklady k procvičení 
 

Příklady s výsledky: 

25𝑥 = 6252 

Výsledek: [4] 

 

6𝑥  = 12960,5 

Výsledek: [2] 

 

1

2𝑥
= 2048 

Výsledek: [-11] 

 

7𝑥+1 = 2401 

Výsledek:  [3] 

 

52𝑥−1 = 3125 

Výsledek:  [3] 

 

0,5𝑥−6 = 23𝑥−1 

Výsledek: [
7

4
] 

 

8𝑥 = 40  

Výsledek: [1,774] 

 

100√0,001

1000𝑥
= 1 

Výsledek:  [
1

6
]  
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52. 7𝑥−1 = 8575 

Výsledek: [4] 

 

32𝑥−1 = 21−2𝑥. 36 

Výsledek: [
3

2
] 

 

8. 22−𝑥 = 16−3 

Výsledek: [17] 

 

9𝑥−1. 32𝑥−1 = 27 

Výsledek: [
3

2
] 

 

3
𝑥

2𝑥
=

4

9
 

Výsledek: [-2] 

 

3

2𝑥−1
+

6

1 − 2𝑥
=

1

2𝑥
 

Výsledek: [rovnice nemá žádný kořen] 

 

(
2

3
)

3𝑥−4

= (
3

2
)

1−2𝑥

 

 Výsledek: [3] 

 

√729
2𝑥−1

= √8122𝑥+1
 

Výsledek: [3,5] 
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78𝑥−3 = 1 

Výsledek: [
3

8
] 

 

81𝑥 =
1

9
 

Výsledek: [−
1

2
] 

 

√3𝑥+3𝑥
. √3𝑥−22𝑥

. √9
8

= 9 

Výsledek: [8] 

 

83𝑥−1. 5−2 = 0,04 

Výsledek:  [
1

3
] 

 

10𝑥−3 = 0,0001 

Výsledek: [-1] 

 

3−𝑥 = 27 

Výsledek:  [-3] 

 

0,01 = 0,0013𝑥 

Výsledek: [
2

9
] 

 

1,1𝑥+1 = 0,11𝑥−1 

Výsledek:  [0,91722] 
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3,5 . 4,61−𝑥 − 5,7 . 6,8𝑥−1 = 0 

Výsledek: [0,85835] 

 

𝑎(2𝑥+1)(𝑥−2) = 1 

Výsledek: [−
1

2
] 

 

9𝑥 − 2𝑥+
1
2 = 2𝑥+

7
2 − 32𝑥−1 

Výsledek: [
3

2
] 

 

 2,1𝑥. 3,5−𝑥 = 5,6 

Výsledek: [2] 

 

2𝑥−1 − 2𝑥 + 10. 2𝑥+1 = 5𝑥 − 2. 5𝑥−1 + 3. 5𝑥−2 

Výsledek: [3,600297] 

 

 √43−𝑥2𝑥+5
= 1024 

 Výsledek: [-2] 

 

71+𝑥 − 9. 75−𝑥 = 1960 

Výsledek: [3] 
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Příklady bez výsledků: 

2𝑥 = 32 − 2𝑥  

 

6𝑥−1 = 5 + 6𝑥−2  

 

5𝑥+2 × 2 − 5𝑥−1 = 45 

 

5𝑥 − 5𝑥 × 5 + 500 = 0 

 

16 + (4𝑥)3 = 43(43)𝑥 − 96 

 

−7 − 5 × (32)𝑥 = −2(32𝑥+1 − 10) 

 

63𝑥+1 −
1

6−3𝑥
= 246 − 63𝑥+2 

 

(
3

4
)

2𝑥−1

− 2 × (
3

4
)

2𝑥−2

=
1

16
− 0,752𝑥−3 

 

8
𝑥
3

−1 − 40,5𝑥−2 = 40 − 2𝑥−2 

 

3𝑥−2 − 33 = √(
1

9
)

4−𝑥

− (
1

3
)

3−𝑥

 

 

0,51−2𝑥 = 24 + 0,251−𝑥 − (
1

2
)

3−2𝑥

 

 

(
1

9
)

1−1,5𝑥

+ 33𝑥+1 − 4 × 27𝑥−1 = 240 
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52𝑥 − 3 × 5𝑥 = 10 

 

16𝑥 = 6 × 4𝑥 − 8 

 

121𝑥 = 22 + 9 × 11𝑥 

 

9𝑥 − 50 × 3𝑥 = 32 × 3𝑥 − 92 

 

20 + 2 × 5𝑥 = (5𝑥)2 + 5 

 

4𝑥 + 7 × 2𝑥−2 = 0,5 

 

25𝑥 = 0,2 − 4 × 5𝑥−1 

 

32𝑥+1 − 3 × 3𝑥+2 = 3𝑥 − 9 

 

3 × 36𝑥 = 6 × (17 × 6𝑥−1 + 1) 

 

24𝑥 + 3 = 22𝑥 − 5 × (1 − 22𝑥) 

 

14 × (75𝑥+1 − 1) = 75𝑥+1 − 495𝑥+1 

 

56𝑥−11 − 2 × (53𝑥−6 + 4) + 5 = 0 

 

4𝑥2−1 + 8 = 18 × 2𝑥2−2 

 

100𝑥2−1 − 22 × 5𝑥2+1 × 2𝑥2
+ 1000 = 0 
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72𝑥−5 <
1

49
 

 

(
1
6

)

𝑥−6

≤ 216−𝑥
 

 

25
𝑥2

≥ 0,2𝑥
 

 

2𝑥2

162𝑥
>

1
128

 

 

1211−3𝑥 >
1

11𝑥 

 

0,42−4𝑥 ≥ 1 

 

36𝑥2
< √6 

 

0,027

0,3𝑥2−9
≤

1

0,092𝑥
 

 

0,7

2−3𝑥

𝑥+1 > 0,49 

 

1,6

5𝑥−6

2−𝑥 ≥ 2,56 

 

(
1

10
)

2−𝑥

− 3. 100

𝑥−4

2 + 2. 0,1
5−𝑥

= 972 
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49

3𝑥+10

6−𝑥 − 343
−

1

3.
1

49𝑥
. 7 ≥ 0 

 

28. 3√𝑥2−1 − 32√𝑥2−1+1 = 9 

 

25
𝑥

+ 20. 5
𝑥−1

+ 5

52𝑥+1
= 0,4 

 

 


